Year 10
St. Catherine’s Scheol .= ; .
Wave;ey PrObab[llty TeSt‘
Quesiion 1;

(1 mark each)
Maich each of the words below with their definition

Qutcomes, Even Chance , Sample Space , Not Ilkely,
Complementary event, Gertamty

l

: When the chance of something happening is equal
I to the chance that it will not happen. .

'.: When the probabifity of an event oceurring equals 1.

: When an experiment is performed, this is the name
- given to its results.  ~

-~

: The probability of an event pot occurring

: The name given o the set of all possible outcomes.

.

: Description of an outcome which probably will not happen.

Question 2: i -
{1 mark each)
The probability A(E), of any event occurring must lie in the range

— s AB = .« <

"

*  Question 3:

{1 mark each)
A card is drawn at random from a pack of 52 cards. Find the fotlow:ng probabifities:

b) P (a red card)

a) P(a spade) \ .
\‘: 4—_— - —
c) P{ncta club}!‘\l : d) P(an aoe\or ajack)
1
1
- - S e—

Name:_ . i o~

Question 4:

{1 mark each} .

A bag contains 6 red, 8 biue and 5 yellow balls. If a ball is drawn at random,
find the probability that it is:

~

o A/_ ) . .
a) blue _~ _ b} not yellov/

) neither red nor blue

Question :

(1 mark each} -

For each of the following probabllltles use prabability terms to describe the
likelihood of each oufcome ocaurring

a) P{event occurring) = 0.5 /

b) P(event occurring) = 0.04

¢) P {event oceurring) = 1

d) P{event occurring) = 0.75 i

e) P (event occurring) = 0 1

™.
l ; > L.
f) P (event occurring) = .1~ ll_ s
Question 6:
(4 marks)

The diagram below represents the possible outcomes of a family having two
children.

Extend the tree diagram to show all the possible outcomes if the family had
{hree children. . ) -

First Child Second Child Third Child Outcomes

] Boy |
_ . | .
Boy_< “Gir]
Girl | -
Boy'
Girl < 7 .
Ginl -



Question 7:
{1 mark}

True or False

“The probability of an event accurring in an experiment is the same as it's
relative frequency” B

Question 8:
(4 marks)
Emily tossed four coins at the same time 30 times and the number of heads

was recorded each time.
The column graph below shows the results.

Rose's Coin tossing Results

froquency

1+ 2 3 4 5
Number of heads

From this experiment what is the probability that when four coins are thrown there

will be:

a) no heads

b} two heads

€

¢) af least three heads

d) five heads

=

Question 9 :

5 @ marks)

There are faur cards marked with the numbers 2, 3, 4 and 5. They are put in

a box. .
Twio cards are selected at random one after the other {ie, the first card is not |

replaced before the second card is picked), fo form a two-digit number.

a) Draw a tree diagram fo show alf the possible two-digit numbers that can be
formed.

4

\

b) What is the probability that the nuriber formed is less thah 357

Hy

o

¢} What is the probability that the number formed is divisible by 57

Question 10:

{2 marks)
A bag contains 3 white and 4 brown balls. Two balls are drawn at random, the first not

heing replaced before the second is drawn. (skefching a quick free diagram could help with
the probabilifies on each branch for each possible outfcome cotild help hera).
Calculate the following probabilities:

e a) P {2 white balls picked)

A ONA
b) P(A bleck and a white ball is picked) Do
. (hint: remember that there are more than one ways lg-get a-black-and white pair)
P # - -

End of Test



vame: [ ]
—* - , ' Question 4:

(1 mark each) . Y
A bag contains § red, 9 blue and 5 yellow balls. If a ball is drawn af random,

Year10 - . o find the probability that it is: .
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Waverley Probability Test a / . B2
a)blue _p(blye) = 20 b) not yellow P {veow)} = 20 ¢
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The probability P(E), of any event occurring must he in the range ] The diagram below represents the possible outcomes of a family having two
children.
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. three children. )
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Question 7:
{1 mark)

True or False

“The probability of an event occurring in an experiment is the same as it's

relative frequancy”
Py Toce m—

Question 8:
{4 marks}

Emily tossed four colns at the same time 30 times and the number of heads

vias recorded each fime.
The column graph helow shows the results.

Rose's Coln tossing Resulis

frequency

0 1 2 3 4 5
Number of heads

From this experiment what is the probability that when four colns are thrown there
will be: -

I
P{nOheseds) = 30~ ?,E) /

a) no heads
| @ 8
b) two heads P(2hath) = 30 /

_ s
% A Plar ks 3 bead) = 59 T3

P(shex) = O

c) at least three heads

d} five heads.

%

Question 9 ;

5 (@ marks)

There are four cards marked with the numbers 2, 3, 4 and 5. They are put in

a box.
Two cards are selected at random one affer the other {je, the first card is not

replaced before the second card is picked}, to form a two-digit number.

a) Draw a free diagram fo show all the possible two-digit numbers that can be

formed.
' G Qi fpaaEs
.Iﬁt/g 9.23
. 24
(# B
I . 25—
/ 2 32
3%
3 fff__—_: 35-- totai = 12
A S )
~ 5 Lg
O Y 52 -
J/ Tt 5

b) What is the probability that the numiber formed is less than 357

\

i <

iy P (<3 = P o 0 7

c) What is the probabitity that the number formed is divisible by 57 /
I
¥ {dvabe py3) = % =9 or 0.5
:

Question 10:
(2 marks)

A bag contains 3 white and 4 brown balls. Two balls ate drawn at random, the first not
being replaced before the second is drawn, (skefching a quick tree diagram could help with
the probabillties on each branch for each possible oufcome could help fiere).

Calculate the following probabilities: Z B/;gu
. " k7 [
W
a) P (2 white balls picke) | g

-——— - o N —— "L'
o g = 7 &)
' L

- oA
b) P(A black and a white ball is picked) Boun
_ {hint: remember that there are more than ong way‘sy,qet a-blaskand white paft}

End of Test @




